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1 In V belt drives, belt touches
(A) At bottom (B) At sides only
(C) Both at bottom and side (D) Could touches any where
V- AMHR BT ygeT et wm=ar & i
(A) Fad el Odas 9 B) 9 B HH g HAE A
(C) M T S @ Hag g (D) A W

2 Critical pressure for steam is
Hg P fau wikes q@ fHaar sar 8-
(A) 184 bar (B) 163 bar
(C) 252 bar (D) 221 bar
3 Change of entropy depends on
(A) Change in volume (B) Change in specific heat
(C) Transfer of heat (D) Change in mass

QueEl o1 aRads iR &var &
(A) 3IMaa & uRads ur B) fafRge ST & oRadya W
(©) ™7 & WIFEIARY 9 (D) TIFHE & gRadd o)

4 In order to balance the reciprocating masses ‘
(A) Primary and secondary forces must be balanced
. (B) Primary couple must be balanced
(C) Secondary couple must be balanced
(D) All of above
Al GHE 1 Hgferd w B g
(A) v 1 devsd 9@ Egfaa 8 afag
(B) urfAs g wdfera ST =nfég
(C) ¥Hvsd FH Hgfera 897 =nfay
(D) T9H | N

5 For specifying the state of wet vapour, one needs
(A) Pressure
(B) Temperature
(C) Pressure, Temperature -
(D) Pressure, Temperature and one more intensive property
e gy & got fdawor & ferg A= &) oova 8 &
(A) T \
®) am
(C) <@ ud o™
(D) <T@, 9U TAT VS I A faRwar
& Function of carburetor is to supply the following -
(A) Only petrol (B) Air and petrol mixture
(C) Petrol and diesel mixture (D) Air and diesel mixture
A F ag . B) 9y @A USIe @®T AT
(C) g @ ot T MAsor (D) 9y Ten i dr BT
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7 Governor sensitivity is the ratio of
(A) Range of speed to the minimum speed
(B) Maximum speed to minimum speed
(C) Mean speed range of speed
(D) Governor lift to the range of speed

IR @ Hagaear U 8)kN &
(A) 1 @ gRads Qar g1 W7 BT TA=mHE
(B) IfEHAH AT TT YATH AT
(C) AT &1 AegHE g2ar O &7 gRads &
D) TERTR H forge agr a0  gRada AT

8 For air standard Otto cycle
(A) Compression ratio is more than expansion ratio
(B) Expansion ratio is more than compression ratio
(C) Compression ratio is equal to expansion ratio
(D) Cannot be compared
arg HHEd ST b o
(A) ¥HIrSH U, W9R U W e slar §
(B) wHISH 3IUK, YHR AT F HH BRI B
(C) dHYred U, UHR :ﬂa‘,qra H "HE 8ar '
(D) Jo=m T8 B

9 What is true for heat engines?
(A) Efficiency of all engines is same
(B) Efficiency of all reversible engines is same
(C) Efficiency of all reversible engines working between same temperature
limits is same
(D) Efficiency of all engines working between same temperature limits is
same

ST ol @ o = e &2

(A) 9 T @ AT WHE B &

B) W ufdadita s9HT & ey wwE SRk 2

(C) \HFE di9E™@ Rl & =g sRida gfaadia == 99 gerar 9qEa
8t &

(D) FHFE d9HEF Rl & g bR svorEl @ gerar = e 8§

10  The stress in disc type flywheel as compared to rim type flywheel is

(A) Equal (B) Less

(C) Greater (D) None of above is true

fS¥r @1 RE ureis wH ¥ RA @& IMBR P Ui TH B FHEA ylaEd
PHT A

(A) SR &rar & B) ®H BT &

(C) s Erar & D) TFH O HE gE T8 &
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Which of the following is not an internal combustion engine?
(A) 2 - Stroke petrol engine (B) 4 — Stroke petrol engine
(C) Steam engine (D) Diesel engine
fPrafeRaa # © 9 @ sigdss gom 98 8 7

(A) 2-%Th Ugra g9 (B) 4—&T%h Ut 39H
(C) ¥Y goT (D) Idroia g9

Objective of Supercharging process is:-

(A) Providing forced cooling air

(B) Supplying the intake of an engine with air at a density greater than the
density of the surrounding atmosphere

(C) Supplying compressed air to remove combustion product fully

(D) Injecting excess fuel for raising more load

FfFEROT UHH HT IgEsT B —

(A) uoifea ¥ 9y Suder &

(B) ¥l 3919 & Ul &1 QW uEHed UR GR] BT EHROT BNET AT
ufRael gigFsa & v I e 81

(C) T&T SUIRT & Q1 oRE e & fog @iifsa arg &1 wwwor se=r

(D) 3fWFH IR IS B AU 3B 9T BT ISTEYUT BT

The property of material by virtue of which it can be beaten or rolled into
plates is called

(A) Malleability (B) Ductility

(C) Plasticity (D) Elasticity
mﬂﬁm%vvwmﬁmwmmqmw

HHAl & |

(A) WIS (B) a=dl
(C) ey (D) YITeRIaT

The process of removing the burnt gases from the combustion chamber of
the engine cylinder using fresh charge is called

(A) Supercharging (B) Scavenging

(C) Knocking (D) Detonation
Hﬁmﬁwwmzmwﬁmﬁmmwaﬁgﬁﬁw

BT BT B Uftbar wsar &

(A) 31fepgRoy (B) 39HTSIHA

(C) 3fuEpied (D) 3feRpIEA

The fluid in the petrol engine (S.I) during compresslon comam
(A) Fuel only (B) Fuel or Air

(C) Air only (D) Mixture of air and- fuel
IS g WdeT @ O ave § oo ger & 7

(A) Tad = (B) FoF awpm@r arg

(C) &FHaa ag (D) -sﬁem AT ATY BT ﬁ&m
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16 A beam of length |, having uniform load of W kg per unit length, is supported
freely at the end. The bending moment at mid spam will be

s v Rrad arad /R den 579 oX 9fy Udies oETs UR W kg @l
TR B, gm%vngvmﬁfrég Wﬁ?waﬁwn‘rﬁ?jﬂmm—

Wi’ H?
: [ - (D
?* ) 3 ) 3
17  In diesel engine. the suction contains —
(A) Fuel only (B) Air only
(C) Air or Euel (D) NMixture of air and Fuel
ord 599 H FueT geor gar &-
(A) &I e (B) @Had aig
(C) a1y 37=yar ge (D) arg e guA @1 fAsfor

18 The efficiency of Carnot engine depends on -
(A) Type of engine
(B) Working fluid
(C) Temperature of source and sink
(D) Type of fuel used
HHEE o BT el ik @l 8-
(A) S & YN W
(B) HHEI ugre! g
(C) | iR 3fWire & amgse=n ov
(D) "Ygad $24 P UPN UR
19 In a design of key, shaft. and pulley
(A) All these are designed for the same strength
(B) Key is made weaker
(C) Pulley is made weaker
(D) Shaft is made weaker
AMFS, FHoll den el & ’fApog &
(A) AT @ el ouE Y b 8
(B) &wofl &1 amed &9 b wiwh &)
(C) gl &1 |l &3 ) ol &)
(D) ¥R @ Gl BH W A 8

20 In diesel engines. the duratlon between the time of injection and ignition, is

known as:

(A) Burning period (B) Ignition period

(C) Delay period (D) Pre — ignition period

SIoTel FOAT H, 3T #1991 AR Yoaold 95T o &rg 95 3afy T a7 BT
ST & °?

(A) SIeq &I (B) 9SgoiH & T

(C) faema w1 (D) Ya—ysa&s &I
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21  Fusible plug for a steam boiler is an alloy consisting of bismuth, lead and
(A) Copper (B) Tin
(C) Zinc (D) Aluminium
Y PGSR BT FIATT T U Aseng &1 9471 gar & |, Rdra [,
aer 3R = # w®m Aer gar & °
(A) difar | B) fe=
(C) oT&dT (D) VvgRaH

22 100 KW power is to be transmitted by each of two separate shaft A is
turning at 250 rpm and B at 300 rpm Which shaft must have greater dia?
(A A (B) B
(C) Both have same dia (D) Unpredictable

.aﬁm—mﬂﬂwmmoKwﬁéﬁwﬁﬁaﬁﬁrﬁ%WAzso

rpm AT TMFS B 300 rpm ¥ A BT 2| fhbw wde &1 @ ¥ Enm—
(A) A B) B
(C) T FT 991 =¥ & BRI (D) IFHM A& STl GIT gl

23 1 Ton of refrigeration is equivalent to —

) 1 9 gfiaa s § frae awer &
(A) 3.5 KW B) 1 KW
(C) 2.5 KW D) 5 KW

24  What salts of calcium and magnesium cause temporary hardness of boiler
feed water?

(A) Sulphites (B) Nitrates
(C) Bicarbonates (D) Chlorides
t%f%‘munamﬁﬁﬁﬁmnzﬁﬁmam&:‘wwwmﬁm
HORAT BNl & 7
(A) wHewIge B) -ELT
(C) wIgFTEC D) FANES

25  If the Shear force is zero along a section the bending moment at that section
will be . '
(A) Minimum . (B) ~Maximum
(C) Zero (D) Either maximum or minimum
Hﬁmﬁmwmﬁﬂwwmﬂsﬁﬁr?ﬁwmwmﬂqﬁaﬂ
A 8 : :
(A) =gFaH B) fEFHas -
©) T (D) 3fErpad a1 gAas .
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26 In impulse turbine, pressure on the two side of the moving blades —
(A) Decreases (B) Increases )
(C) Remains same (D) May decrease or remain constant
Ml eEIZA H IS worhbl & SN Uredl U qE—
(A) &5 & T & B) 9 wiar & _
(C) JEad W&aT & D) & 8 a7 7 97 Rer wsar 8

i 27 A bell Coleman cycle is

' (A) Reversed Atkinson cycle (B) Reversed Joule cycle
(C) Reversed Sterling cycle (D) Reversed Carnot cycle
961 PIAHA G 5

(A) YopH Qefdh=a4a 9 B) Y=pH S TH

©) Yopu wefehr = : (D) IYShA PRAEC B
28  Shear stress on mutually perpendicular planes are

(A) Zero : (B) Maximum

(C) Equal (D) Minimum

29 For maximum discharge, ratio of the pressure at the exit and at inlet of the
nozzle (P,/P,) is equal to — :
Afmar es & g, Si& & frfa ik sl (Py/P) W am @1
U e sxEaw & ? _

(A)  [2/(n+D)atD ®) [2/An+1))e-Dn
(©) [2/(n+1)]/@-D D) [2/(n+1))m+D/

30 Curtis turbine is an example of —
(A) Pressure compounded impulse steam turbine
(B) Pressure — Velocity compounded impulse steam turbine
(C) Reaction steam turbine
(D) Velocity compounded impulse steam turbine
HfEH SRATZT TH IIWEIOT &
(A) <9 HIINTA 3MAT AN eXgigd &1
(B) QE—a7 HAIIA 3T |99 G &l
(C) ufdafshar w9 ezamA &1
D) T AT AT A9 exarsT BT

31 A coil is cut into two halves, the stiffness of cut coils will be

(A) Double (B) Half

(C) Same (D) None of above

Y @Sl dl |1 SxER AR F ave fRar srar #1 ¢ g8 ) @) gt
BT SRR |

(A) g B) 3rE

(C) =9+ (D) sH | HF A8
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32 A device used to increase the temperature of steam without raising its pressure
is called:-
(A) Fusible plug (B) Pre heater
(C) Economizer (D) Super heater
HY & FE BT g f9AT SHPD dgHAE BT o™ B A UIRT @Y o
gren g &7 @ar FHeT ST g ?
(A) TIEE™I T (B) gdaU®s
(©) MHAauafor (D) 3aIfa auw
33 Maximum efficiency for a single stage purer impulse blading (symmetric)
with nozzle angle ‘o<’ is
TRl P ‘o’ Gl Uhd TR fags naT wad (WAfAa) @ fag afe
THaH QAT a— :
(A) cos o< B) cos? e
(C) cos l:"z_:l : (D) cos? [?]
« 34 A large cylindrical vessel was sealed in summer. What is likely to happen
to it in winter?
(A) Nothing (B) Expiode
(C) Buckle & Collapse (D) Become lighter.
Teh ¥ do-eR 9 U g d e fGar oiar 81 a kg W oSH
TR YA 9SS |
(A) mB TH B) wem
(C) famsm (D) &I 8 W
35 Which of the following is a high pressure boiler?
(A) Lancashire boiler (B) Cochran boiler
(C) Benson boiler (D) All of the above
1 4 & 39 S=9 <9 v9 St & 7
(A) GHFREMTAR ST - (B) HHA TGRSR
(©) =949 IOk (D) TURNERT N
36 Expression for the specific entropy of wet steam is —
ad v 3 Al =i @ fow g= &
L
(A) sg + xsp (B) he+ x?
L .
©€) sp+ XSy D) s¢+ X
EJE-2015 / U_D ] 28 [ P.T.O.




WwWw.prepp.in .repp

Your Personal Exams Guide

qifyF $ShiF@Eft / MECHANICAL ENGINEERING
37  Weakest section of a diamond riveting is the section which passes through
(A) 15t row
(B) 21 row
(C) Central row
(D) One rivet hole of the end row

srEvs RRART #§ w9 Paeik @e a8 8-l & o qord &
(A) w2¥ dfaa 9@

®B) fa<ha dfaa 9§

(C) == o0 yfra |

(D) Uk Rfae &1 B w1 anRad dfda F =

38 The specific speed (N,) of a centrifugal pump is given by-
Wm‘aﬁf&@rsanﬁrms)ﬁﬁﬁ%ﬁmaﬁﬁwﬁ%?

(A) NJYQ B) N1/Q
H/4 H34

©) N.‘/Q ) N,JQ
- H2/3 ( H3/4

39 Impulse Turbine is generally fitted —
(A) About 2.5 meters below the trial race
(B) Slightly below the tail race
(C) Little above the tail race
(D) At the level of the tail race

MR SWEIgH, WHRIG: HEf oS ornd) & ?
(A faEs N | enwEr 25 Aler 9

B) faEs ¥ o A

(C) s | oferT Suw

(D) s & wvw W

40  Solid and liquid have
(A) One value of specific heat
(B) Two value of specific heat
(C) Three value of specific heat
(D) No value of specific heat

S T wd ugrl @ fAafrse Sy
(A T & Bt & B) =1 axh &
(C) = =t & (D) =& By &
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41  The degree of reaction of a Kaplan turbine is:-
(A) Equalto 1
(B) Equal to 180

(C) Greater than zero but less than %

(D). Greater than % but less than 1

P gz B IMAfAT B omaET S—
(A) 1 & ST&ER
(B) 180 & €XIEN

© I F Ifw g V) @ ow
(D) 1%%‘#{%%@1&1‘3&?

42  Pick up the wrong statement about centrifugal pump
(A) Head is proportional to speed?
(B) Power is proportional to speed?
(C) Head is proportional to Diameter2
(D) Discharge is proportional to Diameter
. IYH T P IR H AT b B HT F ?
(A) e, @fd2 &1 wEEu &
B) wfem, @7fe? &1 FAEEuRT &
(C) WM& =2 &1 wagErh §
(D) fausHEH, =¥ &1 GAEURh &

43 Internal Energy is a function of only

(A) Pressure (B) Temperature (absolute)
(C) Volume (D) Pressure & Temperature
ARSE ISl U By 8 pad

(A) <& & (B) dTMUH T

(C) 3Imgaa &1 (D) <19 aAT d9HE BT

44 For a fluid at rest:-
(A) The shear stress is zero only on the honzontal plane
(B) The shear stress is zero .
(C) The shear stress in maximum on a place inclined at 45° to the horizontal
(D) The shear stress depends upon the co-efficient of VlSCOSlty

TR ReR 8F 9X @1 Bar § 7 |

(A) Iweger gftded, g afdsr a1 aww = grr &€

(B) 7597 ofted, ¥ 8T &

(C) zgegor uftad, Afdor § 45° & aa uR Iffasan 8/T &
(D) JTEGY WA, AT TPIe 9r ek dar &)
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In a static fluid:- .

(A) Fluid pressure is zero

(B) Linear deformation is small

(C) Resistance to shear stress is small

(D) Only normal stresses can exist

wWfyes ava #—

(A) TRA T g 8l =

(B) ¥ suor wH Sar &)

(C) os1geuur yfiesr 1 ufoRer &8 8 &)
(D) dad EHFI Ufded 991 I8 "Wha &)

1 m3 of air at pressure at 10 kg/cm3 is allowed to expand freely to a volume
to 10 m3.The work done will be

1 m? arg fSE&T 19 10kg/cm?® F1 O &7 Haad ¥9 ¥ B f@Ar SIar
& Ol9 % SHPT IFAd 96 B 10m3 8 SIrar &, frar Tar erl gnm—
(A) Zero /9 B) + ve

(C) — ve (D) 10°Kg m

Gauge pressure is equal to

(A) Absolute pressure + atmospheric pressure

(B) Absolute pressure — atmospheric pressure

(C) Atmospheric pressure — absolute pressure
(D) None of these

T < 8T &—

(A) TAR] qE + TgHSHA W B SxER
B) JUR] IE — IJYHSHNY TE P €T
(C) TIgHSAT €9 — T=Rl || & S)7ER
D) F7H A HIg &

In reaction turbine:-

(A) Total energy of fluid is converted to kinetic energy in the runner

(B) Kinetic energy is appreciable as the fluid leaves the runner and enters
the draft tube

(C) The vanes are partly filled

(D) It is exposed to the atmosphere

yfafsear cxaa #-—

(A) ™R # @A B 9gu] FHor Tfas FHoiT A gRafa 81 ot £

(B) TI9 ORA ¥R &1 BISH @ IR SUC <gd # wdwr &Har & a9 7w
FHoll S BRN &

(C) a9 3if¥rs v ¥ WY BT &)

(D) d98 qigAvSd &Y Seuifad sSkT 2
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49 According to Clausis statement
(A) Heat flows from hot substance to cold substance
(B) Heat flows from hot substance to cold substance unaided
(C) Heat flows from cold substance to hot substance with aid of external

work
(D) B & C above

FATHE & TR~

(A) SHT 711 ugy A ovsy gorRf @) 3R 98l 8|

(B) &1 3971 g/ wrd @& 79 ugR! ¥ ove uarRy @ 3R gsdl &

(C) ST a=g $rR &5 Tsaar ¥ oos ggrel 9 7 gary @ 3R
g8l &

(D) SR B & C

S0 Kinematic viscosity is equal to:

(A) Dynamic viscosity - density

(B) Dynamic viscosity / density

(C) Density / dynamic viscosity

(D) None of these

YIIP w8 8

(A) Tt =T > g9 @ aNTER
v (B) s wa=ar / g9cd & E§RIER

(C) w9 g / Ufdas TO=Edar & axfEas

(D) S | B1E T8

s1 The relation between the number of links (L) & number of pair (P) is:-
fofepy (L) @Y H¥=aT 3R g4l (P) @1 = & 49 gy a7 § 7
(A) L=2P-3 (B) L=2P-2
(C) L=2P4 (D) L=3-2P

52  The temperature of interior surface of cylinder wall of 1.C. Engine is normally
not allowed to exceed
ang. . s9F @ fufavst & ofiaRe was &1 auwE o @ awg feaas
IM A8 "geq e smar 87
(A) 80° C (B) 120°C
(C) 180° C : (D) 240° C
53 Inversion of a mechanism is —
(A) Changing of a higher pair to lower pair
(B) Turning it upside down
(C) Obtained by reversing the input & output motion
(D) None of the above , T

(C) ﬁmw%ﬁrﬁmwmmmmﬁl
(D) ISR | HIg 90 |
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A simple mechanism has: '
(A) 1 hnk ' _ B) 2 links
(C) 3 links : (D) 4 links
U WS Jnaen W 8rfr &
(A) 1 (B) 2 wfoAt
(C) 3 st M) 4 HfSAT

Efficiency of IC engine is normally of the order of

IC §9T9 9@ e&far oRTHIT B 8

(A) 15-20 % B) 20-25 %
(C) 25-30 % (D) 30-35 2%

The purpose of flywheel in an IC engine is —

(A) To regulate the fuel supply ‘

(B) To increase the power capacity of the engine

(C) To reduce the vibration in the engine

(D) None of the above

Tp HE. W g9 F afRued wm BT awr gde Bk & 7

A = gt @1 fafyafa s

(C) SS9 ¥ HU9 BH BIAT

(D) SRR A PIE A8

The maximum & minimum speeds of a flywheel during a cycle are N;& N,
rpm respectively. The coefficient of steadiness of the flywheel is —

W%%Wwﬁmmwmelw

N, rpm 8| GggER, fAuiers =mp & Remar — wone feam sSnr—

N, - N, Nl + N,
(A :z'(Nl —'Nz) | ®) z(Nl - Nz)
. | ) N, + N

Cetane number of petrol is around

(A) 10- (B) 20-15

(C) 20-25 : : (D) 55-70

Tension in the tight side of a belt drive is 100 N & that in the slack side is
60 N If the belt breadth is 10 cm & thickness 4 cmWhat is the maximum
stress induced in the belt?

UH gCcT IO & HH gRrd F 999 100 N € aiw as Rifda gred
60 N &| af¥ uee &1 9re1E 10cm BY 3R #H1eE 4cm 81 o e ¥ aRq
fgepay uftee fa=m 8rm —

(A) 2.5 N/cm? (B) 1.5 N/cm?

(C) 4 N/cm? (D) 2 N/cm?
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60 For a flat open belt drive the belt speed is 880 m/min & the power transmitted
is 22.5 KW. What is the difference between: the tight side & slack side
tensions of the belt drive?

frdl wue em — mwﬁﬁaﬁm&ao%aﬂ?ﬁf&ﬂsﬁﬁ
225%IWW$W(W)WWWWWﬁW

IN BEN?
(A) 9000 N (B) 6450 N
(C) 1540 N ' (D) 1000 N

61 Governer is used in automobile to:
(A) Decrease the variation of speed
(B) Control dN /6t
(©) Control 3N ' ‘ o
(D) All of the above : B
sifem e § AR BT 9HET fopar wam & '
(A) = # uRad| @1 FH B B g
B) &N /& & Frfya & & fag
(C) &N @1 Frifya &= & fag

. (D) Suad ,
62 Which one of the fcllowmg is a gravity controlled type govemor‘?
(A) Hartnell governer (B) Hartung govemer
(C) Watt governer ’ (D) Pickering governer
frefafRag § & dF—wT o FRfA geR ®T TaR § ?
(A) BRAd a0 ®) s TER L
© ae TR @) R

63 Increase in pressure
(A) Lowers the boiling point of a hquid
(B) Raise the boiling point of a liquid
(C) Reduces its volume - :
(D) Does not effect the boiling point of a hquld o T
EAC I 15 I3 |
(A) €T & e R ST ¥
B) wd BT FRIAP F§ ST T N
(C) aM¥ad =e Wi €| | L T
(D) T@RIAF TR PE TAT T8 TS

64 Hartnell governer could be classified under the Emd of
(A) Inertia type governer (B) Pendulum type governer
(C) Dead weight type governer (D): None of the above - = = .ot
mﬁanﬁwmmﬁﬁmﬁﬂnwm%?
(A) SIS UBR & TR (B) WA® UHR & TAAR S
(C)ﬁﬁtﬂmwﬁfmﬁv(o)aqﬁwﬁaﬂéﬁﬁ
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65 When the speed of governer increases then:
' (A) Height of governer & radius of rotation increases
(B) Height of governer & radius of rotation decreases
(C) Height of governer decreases but radius of rotation increases
(D) Height of governer increases but radius of rotation decreases

o9 faferisras oY oify Sedh & o
(A)a%ﬁma%mmqﬂﬁﬁﬁwm%-

B) s @5 Fad R ge= & B gedr @

(C) Rfraze @57 Fad aed & g =™ o Broar ged 8
(D) A E=e H I qeh & g g N Broar g 2

66 Which of the following boiler is water tube boiler?

(A) Locomotive boiler (B) Cochron boiler
(C) Cornish boiler (D) Bab cock & Wilcox boiler
1 § 4 P w1 digoR ot Aol d§faer 2T & —
(A) dpHifed §Taer B) PR SO
(C) Rfw dfmer D) «=9pir vd ATl gaer
67 Which of the following gear system have minimum axial thrust?
(A) Bevel gears (B) Helical gears
(C) Double helical gears (D) Spur gears
1 # 59 R — gonel 3 sl uoie gAGH TEar & ?
(A)  d99 PR B) Hrfea
© famrsfya firr D) wWY e
68 In a gear drive module is egual to:
i i

(A) Diametral pitch ®) Circular pitch

Cifcular pitch Diametral pitch
© JI ®©) J1
Uh R o # dieya e wey 8ar & ?

_ 1 1
A e s ®) e e

Feirg sr=aae = T
2 JI ®) JI

69 Thermal efficiency of thermal power plant is of the order of
U d9 wfda a3 A el q@mar 8 & (@)
(A 15% @) 20%
(C) 30% (D) 45%
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Lewis equation in spur gear design is applied to:
(A) Gear

(B) Stronger of pinion or gear

(C) Weaker of the pinion or gear

(D) Pinion
‘Wﬁmmﬁéﬁﬂmwmwsﬁm%
(A fFrer

- (B) ﬁﬁaﬁmmﬁ,ﬁﬁzﬁms‘r‘
(©) ffeE ar firr # o @ saeiR &

(D) A=

Rivets are made of - .

(A) Brittle material ‘ (B) Ductile material

(C) Soft material (D) None of the above
Rae g9 gy & §9 9 90 &

(A) R uU=wRi (B) a9 ugwel

(C) ¥Yg u=et . (D) SR # A wg T87

Economizer in boiler

(A) Increases steam pressure

(B) Increases steam flow

(C) Decreases fuel consumption
(D) Decreases steam pressure
ISR H ghHHEIZSR

(A) 91T & W9 @& <9 Y

(B) w9 @ "dE &I g™ & fag
(C) o9 W @a Hwa fav

(D) =9 @ TN Hem @ fag

The shear strength, tensile strength & compressive strength of a rivet joint
are 100 N, 120 N & 150 N respectively. If strength of unriveted plate is 200
N, the efficiency of rivet joint is:

U Rae Sire @7 I9SUuT AW, aqad gl o dulss AR shHEen
100N, 120N o211 150N & | gggar afe fa=m Rac a% e &1 A 200N
& a1 Rae o @ q@ar feon 8rft ?

(A) 60 % B) 75 %

(C) 80 % (D) 50 %

Normally cam moves with-

(A) Constant velocity (B) Variable acceleratmn
(C) Varniable velocity (D) None of these
WEROIGAT HA  FgHAAT o : '
(A) = Tfay & ‘- (B) qﬁaﬁ-rﬁ'a ?airrrr Kl
(C) ufRad-ia iy & \ (D) ZHH | owIE A9
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In the impulse turbine, the steam expands
(A) In the nozzle

- (B) In the blades

(C) Partly in nozzle and partly in blades
(D) Neither in nozzle nor in blades

AN eXEza H W9 e #

(A) =foraa #

B) = H

(C) IMEN Aiotal d a2 e =i #
(D) 9 Ao § 9 =i #

The contact between cam & follower is to form a:

(A) Lower pair (B) Higher pair
(C) Sliding pair (D) Rolling pair
BH IR TN B fra weod @ @ Fgaar g ?
(A) ﬁmﬁ? A B) TR A
(C) \UIT TS (D) dJooE IS

The pitch point on a cam exists on-

(A) Any point on pitch curve

(B) Point on cam pitch curve at which pressure angle is minimum
(C) Point on cam pitch curve at which pressure angle is maximum
(D) Any point on pitch circle

R R fog g 8 §

A) fra ap ok HE 9 fag
B) &9 g g u¥ a5 Ry /9 R gAa9 g9 Hor Sar &
(©) &9 g g uwx g8 fag R v ®wHas I For Sar &)
(D) g g Rk »1E W@t fag

The function of condenser in thermal power plant is
(A) To act as reservoir to receive steam for turbine

(B) To condense steam into condensate to be reused again

(C) To create vacuum

(D) All the above

st wifod wWaw # HulE S Hwar &

(A) U @S Pl T8 S SEsgs @ A9 UhiEa eedar § |

(B) #wMU &7 dga94 o AT Oore 98 ERT S9ANT 8 g S 9dh
©) fHag Sa—= v @ faw

(D) 399 I |99

Using lubricants on engine parts is an example of reducmg—

(A) Motion (B) Force

() Acceleratlon (D) Friction

§9F @ Yol H FES JANT T B s &1 $H B3 BT ISEIur 57
(A) Tifd B) do

(C) Uy @») ==
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In thrust bearing, the load acts
(A) Along the axis of rotation
(B) Parallel to the axis of rotation
(C) Perpendicular to the axis of rotation

(D) In any direction

avc faafRT (thrust bearing) § AR &t Q9T (direction of load) &Rt &—
(A) HuE 38T @ I (along)

(B) TAT@ 38T P FHRR (parallel)

(C) yHIIT 3T @ TFad  (perpendicular)

(D) i+ fa=wm

Volumetric efficiency of air compressor is

(A) The ratio of stroke volume to clearance volume

(B) The ratio of air actually delivered to the amount of piston displacement

(C) Reciprocal of compression ratio

(D) Index of compressor performance

g1y Afisd & IIafie qaRT B8R @ ¢

(A) ¥ETH I/MATT  TAT RS BT T

(B) fofévss & ugor &) 0 arg &1 aafas armad e dieH & RId
JMRIAS BT AU

(C) wHST IgUd BT HHH

(D) HHSA & PR BT YABID

The life of bearing is expressed in:- _

(A) Lac of revolution (B) Billions of revolution
(C) Thousands of revolution (D) None of the above
faaffT @1 SNasd (bearing life) g/ weRta fear sar €
(A) 9RepAT & TRG H (B) uReet & 3Ra #H
(C) 9Rep T & BIAR H (D) SR A BIS A6l

A particle acted upon by two forces is in equilibrium. Then, the angle between
the two forces is equal to:

T fivg TR BR BY Y@ A g9 ArEen # | S @ & fa D
WIUT BT HA BET

Ay o° (B) 45°

(©C) 90° , (D) 180°
Centrifugal compressor works on the principle of
(A) Conversion of pressure energy into KE

(B) Conversion of kinetic energy into pressure

(C) Centripetal action

(D) Generating pressure directly

B ERSsEH H HIen & fha g W’P
(A) < SOt b fael ol # gRaikia wrar €1
(B) 7IferoT ol @1 g ot d gRaftfa w=zar 81
(C) fdrp<= &

(D) WY €19 SG=1 HIAT B |
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85 The law of parallelogram of forces gives the resultant of —

(A) Parallel forces (B) Two coplanar concurrent forces
(C) Like parallel forces (D) Non Coplanar concurrent forces
aaﬁa#wmagﬁm%ﬁwgmwaaaﬂmmm
ST &—
(A) MR «&l BT ‘ (B) |1 GHTAT TN gl BT
(C) wAfew AR §@f BT (D) FHAI W g whr
86 The acceleration of a body is expressed by:'-
fovs &1 @vor ygRta fear wrar &
| PR | d?s
] - '
v
©) v-c-;; (D) All of the above / Sudaad Ty

87 The volumetrlc efficiency of compressor with increase in compressor ratio
- will

(A) Increase (B) Decrease

(C) Remain same (D) None of above
e UK 989 W Wils® @ J[afie qEdar
(A) o & @B) =T &

(©) = ?g'c’ﬁ g D) T J FE T8

88 The velomty of the object on earth when it is released from height ‘h’.
h SaE 4 gefl o’ ARG g fis &1 91 Sar &

(A) V=2gh? ®) Vv=2gh
her b A 1 B2
O V= J2gh D) 22

89 The direction of frictional force acting on a body which can slide on a fixed
surface is
(A) In the direction of motion
(B) Normal to the direction of motion
(C) Unpredictable
(D) Opposite to the direction of motion
T fis U arf &R 2wl aa a9 fem «r & Gﬁﬁaﬂ'ﬂagq-\rw
HI HHdl § ?
(A) fa & fQur A
B) Ty @ fawr & o
(C) 3IJFGHE &1 SFT™T ST Hahdl
(D) 1R & fRer ¥ fagda
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90 Efficiency of gas turbine is increased by

(A) Reheating (B) Intercooling
(C) Adding a regenerator (D) All the above
Ao evagT @ wer s ¥

(A) YAENU®H gRT (B) #=zflas g1
(C) NorFRex g™ W (D) s A WA

91 A body is moving in a circular path with radius ‘r’ The relation between
its linear velocity ‘v’ & angular velocity ' -
twr fivs & goawr Ut (e 'r) w® g9 @ & Sud W™ 9
v OFRm HIOTE AT gy W Ry BT & —
(A) v=rw? (B v= T
(C) v=r/o® (D) None of the above / IRTEFT A HF &

92 The value of frictional force is:-
(A) More than external force (B) Egqual to the external force
(C) Less than the external force (D) None of these
. - (A) wEa I 9 IS (B) 920 51 9§ SEN
(C) =g §1 q &HH D) STHH A PE T8

93 Unit of thermal conductivity in SI unit is
Sg Aie®mat Ui @1 SI A AE BRIl B

(A) J/m2sec (B) Jm°K sec ,

(C) w/m°K (D) b & c above / IuRad
94  The frictional force between objects that are stationary is called

(A) Rolling friction (B) Kinetic friction

(C) Dynamic friction (D) None of these

(A) A endor B) T Enfor

(©) =it (@ifgqem) =ndor (1')) SWRIRT | P FE
95  The ratio of ultimate stress & workmg stress is called —

(A) Factor of safety (B) Modulus of elastlmty

(C) Poisson’s ratio o) None. of the above

sif>as uf"Ear (ultimate stress) T=IF if)‘l’é?:ﬁﬂ’t R’fa’el’él (workmg stress) @
IUTT BT HEY T —

(A) =N NIk (factor of safety)

(B) WOIRRKIT 7VNise (modulur of elasticity)

(C) YIgs= AIFUIad (poission’s ratio)

(D) SR # W @E T8
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The vapour compression refrigerator employs the following cycle
(A) Rankine _ (B) Camot
€C) Reversed Carnot (D) Brayton
arq gt WUte ey fhw umw g wordr ¥ 7
(A) ¥%ps ymw (B) &RATE Wb
(C) fafa wiReEe uma (D) S uspw
Which of the following is a dimensionless quantity—
(A) Stress . (B) Strain
(C) Pressure (D) Shear modulus
ﬁw%ﬁgaﬁﬁaﬂavﬂwﬁm—?%awéf
(A) dftas _ B) fawpfa
) =wm=§ (D) 3IYBYYT {RgjH
Hooke’s law holds good upto: ‘
(A) Yield point § , (B) Limit of proportionality
(C) Breaking point (D) Elastic limit
§P @1 W @Fg gar ¥ -
(A) wRMg fag g B) waHFUIRIEar @ Smr g
(©) fa=os fag a5 (D) vy AT ad

The cohdenser and evaporator tubes in a Freon refrigeration plant are made
of :

(A) - Steel (B) Copper

(C) Brass (D) Aluminium _

G B 7

(A) FwE - (@) G

© da= (D) sregfafyas

The bending moment on a section is maximum where shearing force is —
(A) Minimum ! (B) Maximum

(C) Zero : (D) Changing sign :

ﬁs@nﬁmww\a@wwﬁmmaﬂ@ﬁu{mﬁm
BRI & it .

(A) =gFaH : B) 3fEFHan

©) = (D) Rg=l fors

A simply supported beam caries a uniformly distributed load of W kg f per
unit length over the whole span (1). The shear force at the centre is:

WW:WWWWWWWkgfﬁW
awrgw%ﬂtqﬁ@a(l)%%ﬁ%lﬁmmmww

w2 . L

(A) — B) 4
wi

(C) zero/ I (D) >
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102 Unit of viscosity is
AT TOTNes @ SI MlEsd Bl & -
(A) m?2/sec (B) kg sec/m?
(C) N sec/m? (D) Ns2/m

103 Two simply supported beam A & B has the same length ‘L’ & subjected to

‘equal bending moment M. The stress induced in the beam A & B are o A
& o g respectively. If the cross-section of beam A is b X b/2 & that of beam

B is b/2 X b, then correct relation between ¢ , & O is:

<1 YETAPET §U8 A TN B UHEAT o el L & & 3R SHdr g+ smgot
M ¥ Qh FHH €| S8 A T §9S B # HWRE G , O o p URea aRq
8| dgdUR If& ToS A T JIGuR ufR=BE b x b/2 3R B HTb/2 x b 7Y,
AN o, TAT o B = BT HE WE™ FT BRI 7

(A) ©, =20, | B) o, =40,
G'B l
(C) G.AzT (D) o, =04

104 A composite bar is made of steel & Aluminium strips each having 3 cm2area
- of cross — section. The composite bar is subjected to an axial load of 12000 _
N. If Egeep =3 % Ey). the stress in steel is —

(A) 10 N/mm? (B) 20 N/mm?

(C) 30 N/mm? (D) None of the above
mewﬁmﬂwmﬁm@w

g orad g & IguRey B &1 aEwd U2 E| Jga P aiel B

¥ 12000N BT &I AR ST SR &1 3R E  =3E,, 81 a1 3%

H yftger sFT—
(A) 10 N/mm? (B) 20 N/mm? |
(C) 30 N/mm?2 ~ | D) SRR d DY FE |
105 The frictional resistance of a pipe varies approximatély as
(A) Velocity of flow B V2
© & ®) 7’2
Wmﬁaﬁaﬁaﬂwwﬁwv&wmwmﬁﬁ?m
&
(A) ©F @ wdE @7 U ®) @2
© @ - (@) @R
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An adiabatic process in a thermodynamic system is one in which there is?

‘(A) Limited heat transfer to or from the system through the boundary.

(B) No heat transfer to or from the system through the boundary.
(C) No internal energy change.
(D) No energy transfer to or from the system through the boundary

QH FHHAMID dFH B SE™H WshH H 9T 8T 857

(A) IR gRT = # ar 99 & Wffa ST RHEEReT

B) URWET gRT O H AU G W ST BT B WIErEER0T TSy
(C) <3 # =1E ar=<iRe ol uReads =8t

D) 9RROET gRT dF H G O G Sl BT BIS  IEENOT T8
The difference between the actual temperature of superheated steam and
saturation temperature corresponding to its pressure is known as

(A) Degree of saturation (B) Degree of superheat

(C) Dryness fraction (D) None of these
aﬁrww%wﬁmwmﬂmm%mmw
PHT <IN HedART &

(A) Hgwar @ &3 (B) Yudre o1

(C) i D) FTH J FE T8

The type of coupling used to join two shafts whose axes are neither in same
straight line nor parallel but intersect is

(A) Flexible coupling (B) Universal coupling

(C) Chain coupling (D) Oldham’s coupling :

Sufer], STaeT I9FRT IV Wige B Sires o AT oar & Wi B A9 ar
AN YT ¥ OF ﬂ?ﬁ@{ﬂi%ﬂmﬁvaﬁ“xﬁﬁﬁﬂzﬁaﬁwwzﬁ‘r
wHIed Bi

(A) uvSfawed wufer M) Ifada wufar
(C) == Hufen (D) 3NcgeH Ppufi
Which of the following is extensive property?

(A) Pressure (B) Temperature
(C) Volume (D) Density
g & favrga fAdzar 99 & & 2

(A) T©HE (B) dmMgAN

(C) smEaa (D) -

110

For specifying the state of superheated vapour, one needs:
(A) Pressure

(B) Temperature

(C) Pressure as well as temperature

(D) Specific volume

sfaga sy & goT fQawer & g feaad srexa =) & 7
(A) == (B) <9

(C) <™ IR a™g =T (D) fafdse smaas
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111 In a gear drive, module is equal to

(A) 1/diametral pitch (B) 1/circular pitch
(C) Circular pitch/r (D) Diametral pitch/ 7w
ffrar wgoE #, Afeygs &1 w49 8iar 8

A 1/ g B) 1/g0a g
©) T =/ x (D) T =/ n

112 For which of the following substances, the internal energy and enthalpy are
the functions of temperature only?
(A) Any gas (B) Perfect gas ‘
(C) Water (D) Saturated steam _
Fre=feRaa & | P gl & fau siaRe St iR E¥all daa arus
® B BRI B ?

(A) HIE N T8 : (B) arEet 9
(C) oo D) WTT HIY

113 According to kinetic theory of gases, the absolute zero temperature is attained
when-

(A) Volume of gas is zero

(B) Pressure of gas is zero

(C) Kinetic energy of molecules of gas is zero
(D) Mass of gas is zero

ﬁﬁ%?ﬁﬁﬁ@lﬁ%mmﬁmwmg T
(A) 9 T 3MIEE I 8l

(B) 9 =T §W = 8

(C) A9 @ uplt A T SO T s

(D) 9 T gHHME I BT

114 For simple Harmonic Motion of a cam follower, a cosine curve represents

(A) Displacement diagram (B) Velocity diagram

(C) Acceleration diagram (D) All the above

WX 3fdd A B g§¢ HH HidEN H, Hwifaw e gefia @wrar )
(A) fegs @™ &1 (B) 9T & IMRE Bl

(C) TIRUT IR BY (D) 7 A | P

115 First law of thermodynamics fumishes the relationship between
(A) Various thermodynamic processes
(B) Heat and Work
(C) Various properties of the system
(D) Heat, work and properties of the system
SGHETTIHT BT usell g9 e Sudasl &Hedal 8—
(A) fafer= seAmfaes Al & =
B) ST R w1 B 9=
(C) &3 & =1 oEET & @i
O) S, $ AR dF F YorET B A"

EJE-2015/ 1t_D ] 44 : [ P.T.0.




WwWw.prepp.in .repp

Your Personal Exams Guide

- <l $ANRG r EEANRCAL. ENGINEERING
116 Charer = oubnips of 2 spesess B equal 10 heatr transfer under following

conizTacmm
(A) Az comsmams STEwpEEaaiare (B) At consitant pressure
(C) A cossnmae wolkoeme (D) None of these

s e B TRSE f gRads = afkfRery 8 g 9w eym1avey
(A) Tm == = (B) fRerk g9 oz
(C) e s W (D) 98 | g T8l

117 Sprme suffness 1s -

(A» Ramo of coil diameter to wire diameter

(B» Load required to produce unit deflection

(Ci Tis abilitv to absorb shock

(D) TIts capability of storing energy

(A) T[FITA W OUR H W H ST
(B) Umie fAvengT @ fAv sngegs AR
(C) =H® "ena @8 @1 Arger

‘ (D) ST gsiHa w9 @ e
118 The latent heat of vaporization of a fluid at 100K is 2560 KJ/kss What is

- the change of entropy associated with the evaporation? -
100 HfEIT IR Qb g9 B amat el SO 2560 KI/Kg & | amosi O g
Tt gRed=s @r & 7 :

(A) 6.86 KI/Kg-k (B) 256 = 10® KI/Kg-k

(C) 25.6 Ki/Kg-k (D) —256 KJ/Kg-k
119 In an isothermal process, the internal energy

(A) Always decreases (B) Always increases

(C) Increases or decreases (D) Remains constant

HAGTHT WshH #H, orwifRe  FHoll—

(A) B8YT TS oy 2 (B) BH9T 9¢ WAl 2

(C) e Iear gedr 2 (D) aRadia vadr 2
120 A screw is specified by

(A) Major dia x pitch (B) Minor dia x pitch

(C) Major dia x length (D) Mean dia x pitch

Uh Uu @ g gafRia & i &)

(A) NdF e x g (B) &g g™ x fom

(C) < g x oErs (D) =g =g/ x fug
121 Change in entropy for reversible adiabatic process is ‘

(A) Positive (B) Negative

(8] Zero . _ (D) Positive or zero

ufdacifa sg™ wpa & R w2 aRads sar &

(A) SIS (B) FTETE |

(C) ==y (D) eFTRHE AT g
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122 Kelvin — Plank statement is applicable to

(A) Heat Pump (B) Refrigerator

(C) Heat Engine ; (D) None of these
Pfeg wiw wuT 9 FoaR A g

(A) ST g (B) THISIREY

(©) AT g9 D) T § g T8

123 The ratio of lateral strain to the linear strain within elastic limit is known as

(A) Young’s modulus
(B) Bulk modulus
(C) Modulus of rigidity
(D) Poission ratio
mmwwmﬁwmmﬁm%
(A) TT Higge™
B) b egge™
(C) HISYeTd gl &1
(D) diHers IrguwRt

. 124 When wet steam undergoes adiabatic expansion then
(A) Its dryness fraction increases
(B) Its dryness fraction decreases
(C) Its dryness fraction increase or decrease
(D) Its dryness fraction remains constant

ST9 3 W9 BT BE™H YER Sar & ar
(A) T<HAW FqGdT B

(B) IhHdiW Ucdl &

(C) SUHT YEHAN Oc JUdT 9 DAl o
(D) THSBT YsHAOE FHF I8AT 8

d _.
125 Relation ds= -Tg’ holds good in case of :

(A) Reversible processes only
(B) Irreversible processes only

(C) Does not depend on the reversﬂnhty or ureversxblhty
(D) All real processes

mds—i?—ﬁwwﬁa%ﬁ"ﬂé’raﬁm%?

(A) Had ISHFAUT WHH

(B) HIA IE[SHFANIT  UsHH
(C)Wmmmwﬁﬁ?ﬂ@f%
(D) |9 aifd®d ushH
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